11. IN—EHE - higFEREICDULNT
(1) Ih—BHEOBME
O TeEl-oTWWS] AIEIF4E

32 HiTiE Fk2 4FENLAN - PERET, VN —BBE - Ml d i m=) 2M6E D £ L,
bRl VN —BEE ] 2o THhETH, (OlF12)

n=2343

1 FoTWD 28. 3%

2 TENTZ WIS TN D 15. 5%

3 D LH->TND 15. 2%

4 F B 720 40. 8%

(EE[E] ) 0. 3%

<KIV—11—1>41K

BEE
0.3%

FS7ELY
40.8%

==

HM-oTLVS

LLESTLND
15.2%

NP —BEZHE | 28> T ANIZOWTIE, 5720 18 40.8% CThH o=, — 77, [>T\ 5 ]28.3%,
[N W0 TS 15.5%, (D LEI>TWA] 15.2% D 3 >5k &bt [H->Tn5b G 13 59.0%
Tholz, (XIV—11—1)

P AEEBITR D &, [HoTWnd GH ] 1Z<&oM/40 5> 728 84.4% kb %<, IRV T<Zet/50 7%
>M 70.6% ThH ol —J7, TSR] X <E/20 S>3 66.7% b2 <, RWT<HBM/30 5%
>3 63.0%, <ZM/30 mf >N 57.6% CTho7-, (IV—11—2)

_93_



(55« P - 4FEHm]

SER PR 72020 HL e
| S>TND HoTUN% HaTUN% D72 FiLEE22S =i
2k /\gz 97 53 52 140 1 343
T%EJEH: 28. 3% 15. 5% 15. 2% 40. 8% 0. 3% 100. 0%
B &P /\gz 40 22 20 74 1 157
*%ﬁ}@tt 25. 5% 14. 0% 12. 7% 47. 1% 0. 6% 100. 0%
R N 3 0 2 5 0
20 5% % L 10
- 30. 0% 0. 0% 20. 0% 50. 0% 0. 0% 100. 0%
30 25f% ‘ 4 4 2 17 0 27
ff%ﬁ}‘zftt 14. 8% 14. 8% 7. 4% 63. 0% 0. 0% 100. 0%
40 Bt )\%ﬁz 7 5 4 11 0 27
*%Egtt 25. 9% 18.5% 14. 8% 40. 7% 0. 0% 100. 0%
50 £5{% /\?‘éz 4 2 2 8 0 16
T%EJEH: 25. 0% 12. 5% 12. 5% 50. 0% 0. 0% 100. 0%
60 S5t /\gz 13 5 6 29 0 46
*%\Egt 28. 3% 10. 9% 13. 0% 47. 8% 0. 0% 100. 0%
0280 ‘ 9 6 4 11 1 31
Tﬁ;\ﬁ}%l: 29. 0% 19. 4% 12. 9% 35. 5% 3. 2% 100. 0%
L G ‘ 57 31 32 66 0 186
ff%;\ﬁ};tt 30. 6% 16. 7% 17. 2% 35. 5% 0. 0% 100. 0%
20 Bt ‘ﬁz 1 1 3 10 0 15
*%;\Egt 6. 7% 6. ™% 20. 0% 66. % 0. 0% 100. 0%
30 25f% ‘ 5 5 4 19 0 33
*%Egtt 15. 2% 15. 2% 12. 1% 57. 6% 0. 0% 100. 0%
40 F5ft /\gz 16 6 5 5 0 32
*%\Egt 50. 0% 18. 8% 15. 6% 15. 6% 0. 0% 100. 0%
50 25/% ‘ 9 10 5 10 0 34
Tﬁﬁgt 26. 5% 29. 4% 14. 7% 29. 4% 0. 0% 100. 0%
60 2t / 16 4 7 12 0 39
*%ﬁ}@tt 41. 0% 10. 3% 17.9% 30. 8% 0. 0% 100. 0%
70 E50LL )\?ﬁz 10 5 8 10 0 33
- iz 30. 3% 15. 2% 24. 2% 30. 3% 0. 0% 100. 0%
<HEIV—1 1 — 2 > « FEEI
[ ofotd  BELELELTLG oS LEH-TLE  oHSAEL  mEEE |
0% 10.% 29% 39% 40.% 50% 60% 70% 80% 90%  100%
EXUN (343) 28.3% 15.2% | 40.8% ] 0.3%
(14 - 51
B GH (157) 25.5% 14.0% 12.7% | 47.1% J 0.6%
20 BRAS (10) 30.0% [ 20.0% [ 50.0% |
30 A 27) 14.8% 14.8% 7.4% | 63.0% |
40 7% (27) 25.9% 14.8% | 40.7% |
50 Bt (16) 25.0% 12.5% 12.5% | 50.0% |
60 mEAL (46) 28.3% 13.0% | 47.8% |
70 B UL (31) 29.0% 12.9% | 35.5% B z2%
Ltk G (186) 30.6% 172% | 355% |
20 mA% (15) | |[67% 20.0% [ 66.7% |
30 At (33) 15.2% 12.1% | 57.6% |
40 FE AR (32) 50.0% 156% | 156% |
50 A& (34) 26.5% 147% | 29.4% |
60 Bt (39) 41.0% 17.9% | 30.8% |
70 B DL 1 (33) 30.3% 24.2% [ 303% |

_94_




(2) IMp—REBEEHFE

O T#E, ML ETHM-f-) NEEIER

(32Tl ~3%2®IRLI-KFID)
M3 3 ®Hipix, Vhdh—BHEF ZMTmbE Lz (OFW<->TYH)
n=202
1 OB BHO SDHL, Bk 7AlY) 39. 6%
2 HOR—LALA—Y 7.9%
3 KRHANUR 0. 5%
4 OIFYE, KEkE 1. 5%
5 FERNLOEHR (FERELD 7o l) 29. 2%
6 CHTRd, MEEE 7y 52. 0%
7 F0ih 7. 4%
(MHE[E]25) 0. 0%
<HIV—11-3 >é{21§ 0.0% 10.0% 20.0% 30.0% 40.‘0% 50.0% 60.0%
Fﬁ®)i:$|§7ﬂ£ (E%& 5 O@ﬁ%, E’J Z 39.6%
2k )
HoFR—ALR—Y 7.9%
BREA A b 0.5%
DIE Y I, FRrE ]lw
ERDLOWR (FRELY R L) 29.2%
R, Mgk el 52.0%
D 7.4%
0[] 0.0% n=202

N —B#HT | 2o BT, [E, HEEE
WK A DOHR, BoZ72X0  728) ] 1 39.6%, [R5 OEH (FR7ZLD

L Ttng, (Kv—11-—3)

728 BN B52.0% THRbHEL, WRNT MDA
28] 2 29.2%

_95_



(55« P - 4FEHm]

— - N A

123 | ~ i 0 HE

2 L A v N At

i 20T % LA

g 55| 7 B -

£5 <
%

RN N éo 16 1 3 59 105 15 0 279
n=202 | &kt 39. 6% 7.9 0.5% L5%| 29.2%| 52.0% 7.4% | 0.0%| 138.1%
e GH NI 24 6 0 0 18 49 8 0 105
n=82 | kL 20.3% | 7.3% | 0.0%| 0.0%| 22.0%| 59.8%| 9.8%| 0.0%| 128.0%
20 AR N 0 0 0 0 0 4 1 0 5
n=5 | Akt 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 80.0%| 20.0%| 0.0%| 100.0%
30 kAR N 1 1 0 0 3 4 2 0 11
n=10 | Afpkit 10.0% | 10.0% | 0.0%| 0.0%| 30.0%| 40.0%| 20.0%| 0.0%]| 110.0%
40 AR NI 5 1 0 0 5 4 4 0 19
n=16 | kL 31.3% | 6.3%| 0.0%| 0.0%| 31.3%| 25.0%| 25.0%| 0.0%| 118.8%
50 7 N 4 1 0 0 3 5 0 0 13
n=8 | Akt 50.0% | 12.5% | 0.0% 0.0%| 37.5%| 62.5% 0.0%| 0.0%| 162.5%
60 rkf X N 5 2 0 0 4 18 1 0 30
n=24 | Rkt 20. 8% 8.3% | 0.0% 0.0%| 16.7%| 75.0% 4.2% 0.0%| 125.0%
707500 NI 9 1 0 0 3 14 0 0 27
n=19 | kL 4T.4% | 5.3%| 0.0%| 0.0%| 15.8%| 73.7%| 0.0%| 0.0%| 142.1%
Tt G NI 56 10 1 3 41 56 7 0 174
n=120 | &Rt 46. % 8.3% | 0.8% 2.56 | 34.2%| 46.7% 5.8%| 0.0%| 145.0%
20 f X N 1 0 0 1 1 2 1 0 6
n=b | MRkt 20. 0% 0.0% 0.0%| 20.0%| 20.0%| 40.0%| 20.0%| 0.0%| 120.0%
30 At NI 8 1 0 1 5 4 0 0 19
n=14 | L 57.1% |  7.1%| 0.0%| 7.1%| 35.7%| 28.6%| 0.0%| 0.0%| 135.7%
40 AR NI 13 0 0 0 16 8 3 0 40
n=27 | Rkt 48. 1% 0.0%| 0.0% 0.0%| 59.3%| 29.6%| 11.1%| 0.0%| 148.1%
50 AR N 9 2 0 1 7 14 1 0 34
n=24 | A&kt 37. 5% 8.3% | 0.0% 4.2% | 29.2% | 58.3% 4.2% 0.0%| 141.7%
60 kAt NI 12 5 1 0 6 15 1 0 40
n=27 | kL 44.4% | 18.5% | 3.7%| 0.0%| 22.2%| 55.6%| 3.7%| 0.0%| 148.1%
707500 NI 13 2 0 0 6 13 1 0 35
n=23 | A&kt 56. 5% 8.7% | 0.0% 0.0%| 26.1%| 56.5% 4.3% 0.0%| 152.2%

_96_




<HIV—11—4 > - Fih5

OB OEEA (SH ) DOHRR, BoZ2L e y) B DOR— L=
D&AFEA ~> b ODIE Y e, AR
W L O CERE L D 72 8) wE. M U
o D
0. 0% 20. 0% 40. 0% 60. 0% 80. 0% 100. 0% 120. 0% 140. 0% 160. 0% 180. 0%
Atk (202) o I 20.0%
05% 1.5%
[ - 4Fhn50]
B GH (82) 78 220% 0.8%
20 At (5) 20.0%
30 mEAR (10) 10.0% 30.0% 20.0%
40 A% (16) 6.3% 31.3% 25.0%
50 Al (8) 12.5% 37.5%
60 (24) 83%  16.7% I 4.2%
70 UL B (19) 5.3% 15.8%
M GH (120) 8.3% I 34.2% l 5.8%
0.8%  2.5%
20 Ak (5) 20.0% 20.0%
30 kAt (14) 7.1% 35.7%
40 jﬁ{t (27) 59.3% 11.1%
50 mEfR (24) 8.3% I 29.2% I 4.2%
4.2%
60 R 27 18.5% I 22.2% I 3.7%
3.7%
70 2Lk (23) 8.7% 26.1% I 43%

_97_



(3) P REORME
O TEPRE] ER OG0T BIFIE

M3 4 ®Hiplid, THIEFKRE] 2> TWhET, (OlX1-2)
n=2343
1 HoTWAbH 9. 0%
2 VAV RS S SN QA 7. 9%
3 DB LI TN A 7.9%
4 FNG 720 74. 1%
(JRE[E]2%7) 1. 2%
<HIV—11-—5>41
E@E  MoTWD
1.2% 9.0% yisl AV A
M->TLVS
7.9%
HLEISTLNVS
7.9%
Iy A
74.1%
n=343
AL OFBRIEIZ OV TUE, THb ] 2 741% &> TEY, H->TWD] 9.0%, 720w

HoTWB] 7.9%, P LAI->TWVWE] 7.9%D 32 E&bE7 [F-oTnad (F)] @ 24.8% % KiiglZ kAl

S>TW5, (KIV—11-5)

P AERRRITHRD &, TS 220 13 < BE/20 5545 > 28 100.0% & e b %<, RWT< /20 mefS >0
93.3% Th o7~ —J5 [FnoTn5D GH ] 1Z<ZhE/B0 R >728 44.1% b %<, IRWT<BIET0 LA

>72385.5%, <ZctE/60 >3 83.8% LTS, (IIV—11—6)

_98_



(55« P - 4FEHm]

SRIEE foTs | T plmoes | b | e | 6
N 31 27 27 254 4 343
EENIN -
AR 9. 0% 7.9% 7.9% 74.1% 1. 2% 100. 0%
B N 12 11 9 123 2 157
B GH -
AR 7.6% 7.0% 5. 7% 78. 3% 1. 3% 100. 0%
. N 0 0 0 10 0 10
20 mAX -
&R b 0. 0% 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
- NI 1 1 3 21 1 27
30 mfR -
AR 3. 7% 3. 7% 11. 1% 77.8% 3. 7% 100. 0%
s N 5 1 1 20 0 27
40 mfR -
AR 18. 5% 3. 7% 3. 7% 74.1% 0. 0% 100. 0%
. N 1 0 1 14 0 16
50 mAX -
TR HE 6. 3% 0. 0% 6. 3% 87. 5% 0. 0% 100. 0%
. N 1 5 1 39 0 46
60 AR -
AR 2. 2% 10. 9% 2. 2% 84. 8% 0. 0% 100. 0%
- N 4 4 3 19 1 31
70 kLA b -
TR b 12. 9% 12. 9% 9. 7% 61. 3% 3. 2% 100. 0%
B N 19 16 18 131 2 186
et (B) -
&R HE 10. 2% 8. 6% 9. 7% 70. 4% 1. 1% 100. 0%
. NI 0 0 1 14 0 15
20 5 AR -
AR 0. 0% 0. 0% 6. 7% 93. 3% 0. 0% 100. 0%
e N 2 1 2 28 0 33
30 At -
R HE 6. 1% 3. 0% 6. 1% 84. 8% 0. 0% 100. 0%
. NI 3 5 2 22 0 32
40 7 AR -
TR HE 9. 4% 15. 6% 6. 3% 68. 8% 0. 0% 100. 0%
” NI 5 6 4 18 1 34
50 mefX -
AR 14. 7% 17. 6% 11. 8% 52. 9% 2.9% 100. 0%
s N 3 3 7 26 0 39
60 %1% -
TR b 7.7% 7.7% 17. 9% 66. 7% 0. 0% 100. 0%
. N 6 1 2 23 1 33
70 LA B -
TR HE 18. 2% 3. 0% 6. 1% 69. 7% 3. 0% 100. 0%

_99_




(4) EEBREEM->-Ai%
O THDLIE (GRS DDA, E-Zf&Y #HE) 1 NFIFS5E

(M34T1~3%2BIRLI-KGFID)
M35 Helzi, THIRFRE] 2T £ L7z, (OlXWn<>TH)
n=_85

1 TR (RO DD, BoZ72L 72Y) 47. 1%
2 HOHR—LR—D 11.8%
3 HFEA R b 1. 2%
4 DIE Y JE, R 1. 2%
5 FRNOOER (FRELD L) 35. 3%
6 T, MR L 28. 2%
7 Z D 4. 7%

(M [E]2%5) 2. 4%

CENV—11—7>40 0.0% 10.0% 20.0% 30.0% 40.0% 50.0%

T OIRHE R ) SDDOHRR, BEo 72 47.1%
X 7y
HOHR—LN— 11.8%
BFEA R b ]Lm
DIE Y I, KR ] 1.2%
FRNOOER (FRELD L) 35.3%
R, Mgk el 28.2%
F DO 4.7%
4BE ] 25 :I 2.4% n=85

Ik FARE & S o T2 FIEICHOW L, TSR (R >OHl, B2 80
EERBHEL, RNT [OOSR (FRTEXLY 728)1 N 85.83%, [HTH, M
g, (KIvV—11—7)

RE) ] N 471%
7Y DN 28.2% &

- 100 -



(55« P - 4FEHm]

~ 3 AN
el o | & | B = | 0| 5 | B |F
YN + 1 U, K D> ’ fil %
) | ~ .8 =5 HE
DAk U N o B
) ~ ~ 1 DR
= ’ E
EiN = <
i} =
7,‘,5\
X
)
7
v
IR NE 40 10 1 1 30 24 4 2 112
n=85 | A&kt 47.1% | 11.8%| L.2%| 1.2%| 35.3%| 28.2%| 4.7%| 2.4%| 131.8%
B GH NE 15 3 0 1 10 10 2 0 41
n=32 | A&kt 36.6% |  T.3%|  0.0%| 2.4%| 24.4%| 24.4%| 4.9%| 0.0%| 100.0%
20 A N 0 0 0 0 0 0 0 0 0
n=0 | HERL 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0%| 0.0%
30 AR N 4 1 0 0 1 1 0 0 7
n=5 | fHEAEkL 80.0% | 20.0%| 0.0%| 0.0%| 20.0%| 20.0%| 0.0%| 0.0%]| 140.0%
40 1A N 0 1 0 0 3 2 2 0 8
n=7 | f#EEL 0.0%| 14.3%| 0.0%| 0.0%| 42.9%| 28.6%| 28.6%| 0.0%| 114.3%
50 At N 1 0 0 0 1 0 0 0 2
n=2 | Rkt 50.0% | 0.0%| 0.0%| 0.0%| 50.0%| 0.0%| 0.0%| 0.0%| 100.0%
60 mf N 2 1 0 0 1 4 0 0 8
n=7 | f#EEkL 28.6% | 14.3%| 0.0%| 0.0%| 14.3%| 57.1%| 0.0%| 0.0%| 114.3%
70 LA 1 N 8 0 0 1 4 3 0 0 16
n=11| A&kt 72.7% |  0.0%| 0.0%| 9.1%| 36.4%| 27.3%| 0.0%| 0.0%| 145.5%
o G NE 25 7 1 0 20 14 2 2 71
n=H3 | A&EkLt 47.2% | 13.2% |  1.9%| 0.0%| 37.7%| 26.4%| 3.8%| 3.8%| 134.0%
20 1A N 1 0 0 0 0 0 0 0 1
n=1| k| 100.0%|  0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%]| 100.0%
30 Ak N 3 1 0 0 2 0 0 0 6
n=5 | f#EEkL 60.0% | 20.0%| 0.0%| 0.0%| 40.0%| 0.0%| 0.0%| 0.0%| 120.0%
40 1A N 6 0 0 0 7 0 0 0 13
n=10 | A&kt 60.0%| 0.0%| 0.0%| 0.0%| 70.0%| 0.0%| 0.0%| 0.0%| 130.0%
50 At N 7 2 0 0 5 5 0 1 20
n=15| A&kt 46.7% | 13.3%| 0.0%| 0.0%| 33.3%| 33.3%| 0.0%| 6.7%| 133.3%
60 mf N 5 3 1 0 2 5 1 1 18
n=13 | A&kt 38.5% | 23.1%| 7.7%| 0.0%| 15.4%| 38.5%| 7.7%| 7.7%| 138.5%
70 Ll 1 N 3 1 0 0 4 4 1 0 13
n=9 | f#EAEkL 33.3% | 1L.1%| 0.0%| 0.0%| 44.4%| 44.4%| 11.1%| 0.0% | 144.4%

- 101 -




